ANNEX 4

[image: image1.jpg]Figure 131: Barclays Total Return Indices in real term with gross income
reinvested
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Source: Barclays Capital.




[image: image2.jpg]Figure 106: Equity Performance

2 3 4 5 10 18
Outperform cash 69, 72 75 76 89 87
Underperform cash 35 31 27 25 7 1
Total number of years 104 103 102 101 96 88
Probability of Equity Outperformance 66% 70% 74% 75% 93% 99%
Outperform Gilts 72 78 80 77 80 80
Underperform Gilts 32 25 22 24 16 8
Total number of years 104 103 102 101 96 88
Probability of Equity Outperformance 69% 76% 78% 76% 83% 91%

Source: Barclays Capital.




